Flachen: km? ha a m? dm em?

Volumen: l p

(Vollkérper) ma dm? i oy
e o e Mg 5

Volumen: _—
(Hohlkorper) @ ﬁ @ ﬁ




Massen: = e = —
~ [0 =] e

Winkel:




mﬂmmm\m
W'\_/ &/ Rt Mf-‘i/ %,,'Wmmw

-Jccl./.ﬂ/—\mmm

Fléichen: km? ha a m? m? el

Léngen:

Volumen:
(Vollkorper)

=
3

Volumen:
(Hohlkorper)

.'i\é 2 [[l(,_r ‘Z(‘KWL(_ /l '(Cr

s 100 0



g & %@“ 2 =
| (o ] [ 9] [Tme
Raley Rq0/ Ay/ /ey W R s

/(ilo/wua . 1000
"0 ;
i(o/

365 *24 ‘)
- (=)
g mﬂ’tw

- e féo
s/ Rey) R, B Sicee
Winkel: ///,/ 07% -
,/< e 0 ’60 Y




